10 GCA 12, TCA

35 GCDCA 40 TCDCA

30 CDCA 50 GDCA

E r=0.99 r=0.999- r=0.99 r=0.999, r=0.999 r=0.997/
@
2]
c
o
o
]
o
(%)
=0 0 0 0 0 0
(uM) 0 05 1 0 05 1 0 05 1 0 05 1 0 05 1 0 05 1
_35 TDCA 025 CA 1 GLCA 60 DCA 25 TLCA 0.25 LCA
=3 - - "
8 r=0.999, r=0.998 r=0.997, r=0.999, r=0.998 » r=0.997,
Q
2]
c
I}
Q
7]
o
g
0 0 0 0
(uM)0 05" 1 005 1 0 05 1 0 05 1
. GDCA TDCA CA GLCA
%3; n.s.n.s. n.s.n.s.
= 1s.ns Pl
k<]
I
<
3
f =
8
©
£
2]
g /

s CDCA GDCA TDCA CA GLCA DCA TLCA LCA
20847 NS 107 NS 15, NS 067 ns. 0.04 * 047 _NS. 00087 NS 05 *
= ns.

o

= . 081 = 0.4

506 i 10 04 :/ 0.03 '\ 0.3 0.006 o

c ! .

§04] " T~ 002 0.2 0.004

802 o4 05 02 0.01 0.1 0.002 02

o . 021 . . : i§ T, : 0.1

50 0 0 0 of * 0 0 » 0

% ltch Relief  ltch Relief  Itch Relief  Itch Relief  ltch Relief  lich Relief  Itich Relief  ltch Relief



